mathrm d'N
mathrm d p. mathrm d lambda
N
o

50

T

w
o

T

N
o

=
o

mathrm d N / mathrm d p

p)

N

Ratio to CMS
[N

0.5

x13D00 GeV pp Jets
] : | : | : | : | : | : | : | : | : | : -
B Groomed LHA)\é_5 (CMS jet substructure) N
= CMS i
. ---- Herwig 7.2.1 default _
— —&— Pythia 8.308 default —
— ¢ Sherpa 2.2.9 default ]
-, -
- . i
B ]
— .’...‘.~.‘ —
_ e i
B oy _|
T I R A -
| " | " 1 " 1 " 1 " 1 " |
0 0.5 1

groomed LHA

Rivet 3.1.10, = 3.2M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


